
User Manual

80300US-WHD
Universal Stand

For technical support, email techservices@wahudatools.com  or call at 877-568-8879
VER. 06.20.21

mailto:techservices@wahudatools.com%20
mailto:techservices@wahudatools.com%20


Stand Assembly Size

Holes Patterns

  6'' Jointer (50160CC-WHD)
  8'' Jointer (50180CC-WHD)
10'' Jointer (50110CC-WHD)

13'' Planer-Two Speed (60200PC-WHD)

13'' Planer-Single Speed (60100PC-WHD)

2

mailto:techservices@wahudatools.com%20


IN THE BOX

Upper Leg x 4

Lower Leg x 4

Upper Brace (Long) x 2

Upper Brace (Short) x 2

Lower Brace (Long) x 2

Lower Brace (Short) x 2

Rubber Foot x 4

Carriage Bolt M8 x 1.25-16

Carriage Nut M8 x 1.25

Hexagon Socket Screw M6 x 4

Washer M6 x 8

Nut M6 x 4

3

mailto:techservices@wahudatools.com%20

